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 Autograph Activity
Finding the Equation of the Perpendicular Bisector 
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 Open a new graph page in Standard Level . . . [image: image3.png]


 choose Equal Aspect
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 Add two points anywhere on the graph then… [image: image5.png]


 Return to ‘Select Mode’

	
[image: image6.wmf] Write down the gradient of the line joining the 2 points you chose here:
	Gradient =
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 Select both points -from the Object menu choose Gradient . . . 
[image: image8.wmf] if it agrees

	
[image: image9.wmf] Write down the mid point of the line joining the  2 points on the graph here:
	Mid-Point is: (      ,      )
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 Select both points - from the Object Menu choose Mid-point . . . 
[image: image11.wmf]if it agrees

	
[image: image12.wmf] Write down the gradient of the perpendicular bisector here:
You should know that perpendicular lines have gradients that multiply together to give −1.
	Perpendicular Bisector:

Gradient =



	To find the equation of the perpendicular bisector:

1. Write the equation in the form y = mx + c (where ‘m’ is known!)
2. Use the ( x , y) values for the mid-point to work out the value of ‘c’ 

	
[image: image13.wmf] The equation of the perpendicular bisector is:
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 In Slow Plot mode use . . . 
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 to add this equation

 
[image: image16.wmf] Check that this IS the perpendicular bisector

Note: you can select both points and from the Object Menu choose Perpendicular Bisector – but this is cheating!
	[image: image17.png](B Equation 1:y=35x+0.25
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